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Exercise 1 (20%)

The following earnings and dividends forecasts were made at the end of 2018 for a firm with
$23 book value per common share at that time. The firm has a required equity return of 10%.

2019E 2020E 2021E 2022E 2023E

EPS 4.75
DPS 1.13

6.09 4.93 6.31 6.87
1.41 1.56 1.69 1.91

a) Forecast book value per share, return on common equity (ROCE), and residual
earnings for each year, 2019-2023. Assume that residual earnings will grow at a rate
equal to growth in historical GDP (4%), after 2023. What is the value of one share in

the company?

b) Describe the five steps in the process of fundamental analysis (max 'z page).

UNIVERSITETET | AGDER

SERVICEBOKS 422 4604 KRISTIANSAND
TELEFON 38 14 10 00 FAKS38141001
ORG.NR. 970 546 200 MVA postmottak@uia.no www.uia.no



R[] UNIVERSITETET | AGDER

Exercise 2 (20%)

GasPro reports the following amounts in its annual report:

Net income 8500
Accruals = Change in total current assets exclusive of cash 1400

Cash in investing activities:

Purchase of machinery 1600
Purchase of short term investments in financial securities 400
Sale of short term investments in financial securities 110

The change in total current assets is the only accruals in the company. The firm made interest
payments of 800. The tax rate is 35%.

a) 1) Calculate levered cash flow from operations.
i1) Calculate free cash flow.

b) Why might an analyst not put much weight on a firm’s current free cash flow as an

indication of future free cash flow? Explain (max 'z page).

Exercise 3 (20%)

A firm reported $270 million in total assets and $170 million in debt. It had no interest
bearing securities among its assets. In the income statement, it reported $700 million in sales.
The firm's 100 million shares traded at $9 each.
a) Calculate
1). The price-to-book ratio (P/B)
11). The unlevered price-to-sales ratio (P/S)

ii1).  The enterprise price-to-book ratio

b) Do you recommend using the unlevered price-to-sales ratio or the price-to-sales-ratio?
Explain (max 2 page).
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Exercise 4 (20%)

At the beginning of its fiscal year 2019, an analyst made the following forecasts for
Faceblook Inc.

2019 2020 2021 2022

Cash flow from operations 1913 1954 1990 2001
Cash investment in operations 270 342 397 423

Faceblook reported $5448 million in short-term and long-term debt at the end of 2018, but
very little interest bearing debt assets.

a) Use a required return of 9% to calculate both the enterprise value and equity value for
the company at the beginning of 2019 assuming that long run growth is 3 percent per

b) In general, what explains the difference between cash flow from operations and
earnings? Explain (max 2 page).

Exercise 5 (20%)

A firm generated free cash flow of $2300 million and paid net interest of $20 million after
tax. It paid a dividend of $15 million and issued shares for $50 million. There were no share
repurchases.

a) That did the Treasury do with the remaining cash flow and for how much?

b) In general, how can a firm pay a dividend with zero free cash flow? Explain (max 2
page).
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CHAPTER 1

CHAPTER 2

A Summary of Formulas

Value of the firm = Value of debt + Value of equity

Shareholders’ equity = Assets — Liabilities

Net income = Revenues — Expenses

Net revenue — Cost of goods sold = Grogs margin

Gross margin — Operating expenses = Operating income
Operating income — Net Interest expense = Income before taxes

Income before taxes — Income taxes = Income after taxes
(and before extraordinary items)

Income before extraordinary items + Extraordinary items = Net income
Net income — Preferred dividends = Net income available to common

Cash from operations + Cash from investment + Cash from financing
= Change in cash

Ending equity = Beginning equity + Tota] (comprehensive) income
— Net payout to shareholders

Comprehensive income — Net income + Other comprehensive income
Intrinsic premium = Intrinsic value of equity — Book value of equity
Market premium = Market price of equity — Book value of equity

Value added for shareholders = Ending valye — Beginning value + Dividend

Stock return, = Pi—P i +d,

Page 12

Page 36
Page 38
Page 39
Page 39
Page 39

Page 39
Page 39
Page 39

Page 40

Page 40
Page 41
Page 44
Page 44
Page 46
Page 46
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CHAPTER 3

CHAPTER 4

Market value of equity + Net debt

Unlevered price/sales =

Sales
Unlevered price/ebit = Market value ofef]u1ty + Net debt
ebit
Unlevered price/ebitda = ~1aket value of equity + Net debt
ebitda
: ' t
. Enterprise P/B = Market value of eqllnty + Net deb
Book value of equity + Net debt
Trailing P/E = Price per share

Most recent annual EPS

Price per share

Rolling P/E =
Sum of EPS for most recent four quarters

Price per share
Forecast of next years EPS

Forward or leading P/E =

a3 - D
Dividend-adjusted P/E = Price per shau]::e;-S Annual DPS

Value of a bond = Present value of expected cash flows

VOD:%'F@*-%‘FC&#" &

ot
Po - php Py P Py

(ppis1+ Required return for the bond)
Value of a project = Present value of expected cash flows

pp Pp Pp Pp Pp
(ppis 1 + Hurdle rate for the project)

Value of equity = Present value of expected dividends

V§=i+d~;+d—;+d—f+
PE pE pE pE

(Pz is 1 + Required return for the equity)

Page 79
Page 79
Page 79

Page 79

Page 79

Page 79

Page 79

Page 79

Page 90

Page 90

Page 112

Value of equity = Present value of expected dividends + Present value of expected

terminal price

Vg:ﬁ+d—2+ﬁ+---+dT e

N pL Pk

Page 112
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CHAPTER 5

Appendix A Summary of Formulas 711

Perpetuity dividend model:

d d d d d
I/§=‘1+Tz+73+...+_;+(&)/pg Page 112
Pe PE  p: Pe \pe -1
Dividend growth model:
d /
Vg:_l_;.i;_’_d_;.l_..._}.i]]:_i_(&)/pg Page 113
PE  pz p3 PE Pe—g
Value of a perpetual dividend stream = VE = @ i Page 113
Pr —
Value of a dividend growing at a constant rate = b= @ Page 113
Pe—g
Value of the firm = Pregent value of expected free cash flows
=90, G b G-k G-h G-I +o Pagells

pr P: PF P? Py
(pris 1 + Required return for the firm)

Value of the equity = Present value of expected free cash flows minus value of net debt

VOEZM-FL;]Z-FL;]}-F-“—FCT\;[T%—CYT
Pr Pr Pr Pr Pr

If free cash flows after 7 are forecasted to be a (constant) perpetuity,

~FF Page 116

cvy = Srn = Irn Page 116
pr—1
If free cash flows are forecasted to grow at a constant rate after the horizon,
CVy = [M} Page 116
Pr—g
Cash flow from operations = Reported cash flow from operations
+ After-tax net interest payments Page 120

Cash investment in operations = Reported cash flow from investing
— Net investment in interest-bearing
instruments Page 121

Earnings = Free cash flow — Net cash interest + Investment + Accruals

Earnings=(C—-1)— i+ 7+ Accruals Page 126
The value of common equity VE)= By + £ + @ + g N Page 145
Pe P pz
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CHAPTER 6

Residual earnings = Comprehensive earnings — (Required return for equity
% Beginning-of-period book value of equity)

RE, = Earn, = (pE = I)B,_l

Residual earnings = (ROCE — Required return on equity)
% Beginning-of-period book value of common equity

Earn, = (pE == I)B[,l = [ROCE, = (pE = I)JB,«_l

Simple valuation model:

vE =B +—1
A —

Case 1 valuation. RE is forecasted to be zero after some point:

V§:30+RE1 +R];:2 +R]§3 +~-+RET
PE PE PE PE
Case 2 valuation. No growth:
vi g+ KB RE2 | REr +[RE_} r
PE PE P PE -1

Case 3 valuation. Growth is forecasted to continue at a constant rate:

RE1 +RE2 +RE3 +“.+RET _I_[RETH]/

pe P Py PE

VE = By +

ARE, ARE; ARE,

Value of equity = VOE = % Eam, +

Pr= Pr Pp Pp
1
Normal forward P/E = ———
Required return
+ ired 1
Normal trailing P/E = (1 + Reguired retim)

Required return

Value of equity = Capitalized forward earnings
+ Extra value for abnormal cum-dividend earnings growth

5 _Bam 1 |AEG, AEG, AEG,
© pp-l pp-l| pg Py Py
AEG2+AEG3+AEG4+”}

Pr P g

1
= Ea\m1 ¥
pp—1

Abnm;mal earnings growth; (AEG,) = Cum-dividend earn; — Normal earn;

= [Earn, + (pg — 1)di-1] — peEarn,

Page 145

Page 147

Page 151

Page 152

Page 154

Page 154

Page 180

Page 183

Page 184

Page 185

Page 187
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Abnormal earnings growth, (AEG) = [G,—
Value of equity (cum-

pe] x Earnings, Page 187

dividend) = Capitalized current earnings
+ Extra value for abnormal cum-

dividend abnorma]
earnings growth

AEG, AEG, AEG
E - 1 2 3
Vs +dy = _I[Eamo+ 0 +T+ 5 Page 189
E E p E p E
PEG 1atio = PE Page 199
I-year-ahead bercentage earnings growth
CHAPTER 7
Value = Value based op what we know + Speculative valuye Page 213
Weighted~average expected return formula:
By By
ER:[]TO XROCE1]+[(1— -]%) X (g - 1)] Page 214
Value = Value based op book value and near-term forecasts Page 218
* Value of speculative growth
V ’5 =By + 2By + & + Value of speculative growth Page 218
p PP -1)
Earnings forecast, = (Book value, ; x Required return) + Residual earnings, Page 219
1 AEG
Ve = b1 [EPSI + o 12]+ Value of speculative growth Page 221
Earnings forecast, = Normal earnings forecast, + AEG,
— Forecast of earnings from prior year’s dividends Page 222
CHAPTER 8
Free cash flow = Net dividends to shareholders + Net bayments to debtholders and
issuers
P C—I=d+F Page 238
“ Treasurer’s rule:
F IfC—71-i>d: Lend or buy down own debt Page 238
f EC-1-i<g- Borrow or reduce lending
}z% Free cash flow = Operating income — Change in net Operating assets
£ 5 C—I=0I-ANOA Page 238

Free cash flow = Change in net financial assets

Net financial income
+ Net dividends

C—l=ANFA—NFI+d

Page 244
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CHAPTER 9

A Summary of Formulas

Free cash flow = Net financial expenses — Change in net financial obligations
+ Net dividends
C—I=NFE—-ANFO +d Page 244
Net dividends = Free cash flow + Net financial income
— Change in net financial assets

d = C— I+ NFI - ANFA Page 245

Net dividends = Free cash flow — Net financial expenses
+ Change in net financial obligations

d= C—I-NFE + ANFO Page 245

Net operating assets (end) = Net operating assets (beginning)
+ Operating income — Free cash flow

NOA,;=NOA.; + OI,— (C; - I Page 245
Change in net operating assets = Operating income — Free cash flow
ANOA,; = OI, - (C,— 1) Page 245

Net financial assets (end) = Net financial assets (begin)
+ Net financial income + Free cash flow

— Net dividends
NFA,=NFA, | + NFL, + (C,~ 1)) - d, Page 245 Ct
Change in net financial assets = Net financial income + Free cash flow
— Net dividends
ANFA, =NFI, + (C,— I)) — d, Page 246

Net financial obligations (end) = Net financial obligations (begin)
+ Net financial expense — Free cash flow
+ Net dividends

NFO;=NFO,_; + NFE,— (C;,~I,) + d; Page 246 {
Change in net financial obligations = Net financial expense — Free cash flow
+ Net dividends ‘
ANFO, = NFE, — (C,—1I) +d, Page 246 |
Stocks and flows equation for common stockholders’ equity: ‘
CSE; = CSE,; + Comprehensive earnings, — Net dividends; Page 246 l

CSE; = NOA; - NFO, Page 247

Dividend payout = Diidends Page 266

Comprehensive income
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CHAPTER 10

Appendix A Summary of Formulas 715

. Dividend G S
Tiotal -y fabio= nds + Stock repurchase

Page 266
Comprehensive income
Dividends-to-book value = Rividends — Page 266
Book value of CSE + Dividends
Dividends + Stock repurchases Page 266

Total payout-to-book value =

Book value of CSE + Dividends + Stock repurchases

; . Comprehensive income — Dividends
Retention ratio = —
Comprehensive income

Page 267
= 1- Dividend payout ratio
Mot Minestumnt tafe, = Net tl'(c.lnSE'lCtIOIlS with shareholders Page 267
Beginning book value of CSE
Growth rate of CSE = Ew
Beginning CSE Page 267
_ Comprehensive income + Net transactions with shareholders
Beginning CSE

Growth rate of CSE = ROCE + Net investment rate Page 267
Tax benefit of net debt = Net interest expense X Tax rate Page 305
After-tax net interest expense = Net interest expense X (1 — Tax rate) Page 305

Tax on operating income = Tax expense as reported
+ (Net interest expense x Tax rate) Page 306
Effective tax rate for operations = Page 307

Tax on operating income

Operating income before tax, equity income, and extraordinary and dirty-surplus items
Residual operating income = ReQI, =0I —(p- I)NOA,_, Page 312

Operating profit margin (PM) = M

Sales Page 318

OI (after tax) from sales

1 = v O VO ad 8
Sales PM Sales , Page 318

Other items PM — OI (after tax) from other items ,
Sales Page 318
Net (complzehensive) income profit margin = Lomp reh;nlswe = Page 318
ales
Expense ratio = M Page 318
Sales
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CHAPTER 11

CHAPTER 12

1 — Sales PM = Sum of expense ratios

Operating asset

Operating asset composition ratio = =
Total operating assets

Operating liability

Operating liability composition ratio = >
Total operating liabilities

Operating liabilities

Operating liability leverage (OLLEV) = :
’ Net operating assets

Net operating assets

Capitalization ratio = — = NOA/CSE
Common stockholders’ equity
Fi 1 leverage rati . L
inancial leverage ratio _ Net financial obhgatlonsl — NFO/CSE
(FLEV) Common stockholders’ equity
Capitalization ratio — Financial leverage ratio = 1.0
. OIY
Return on net operating assets (RNOA, ) = 7
/5 (NOA, +NOA, _))
. NFI,
Return on net financial assets (RNFA,) = N
/5 (NFA, +NFA,_))
5 NFEI‘
Net borrowing cost (NBC, ) =

Y, (NFO, + NFO, )

Free cash flow = Operating income — Change in net operating assets

C—I1=0I-ANOA

Free cash flow = Net financial expense — Change in net financial obligations

+ Net dividends
C - I=NFE - ANFO +d

ROCE = HOS x RNOA | - NEO X NBC
CSE CSE

ROCE = RNOA + Srd
CSE

x (RNOA — NBC)}

= RNOA + (Financial leverage x Operating spread)
= RNOA + (FLEV x SPREAD)
NFA

ROCE = RNOA —
CSE

x (RNOA — RNFA)}

Page 318

Page 319

Page 319

Page 319

Page 319

Page 319

Page 319

Page 318

Page 318

Page 319

Page 344

Page 344

Page 367

Page 366

Page 368
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Implicit interest on operating liabilities = Short-term borrdwing rate (after tax)

X Operating liabilities

Return on opera ting assets (ROO A) = OI + Implicit 1.11terest (after tax)
Operating assets

Page 369

Page 369

Return on net operating assets = Return on operating assets + (Operating liability
leverage x Operating liability leverage spread)

RNOA =ROOA + (OLLEV x OLSPREAD)
OLSPREAD = ROOA — Short-term borrowing rate (after tax)
ROCE = ROCE before MI x MI sharing ratio

ROCE before minority interest MI) = Comprehensive income before MI
CSE + MI

Page 369
Page 369

Page 372

Page 372

Minority interest _ Comprehensive income/Comprehensive income before MI

sharing ratio CSE/(CSE + MI)
ROCE = (PM x ATO) + [FLEV x (RNOA — NB )]
PM = OI (after tax)/Sales
ATO = Sales/NOA
PM = Sales PM + Other items PM

Sales PM = Gross margin ratio — Expense ratios

I _ Cash  Accounts receivable a Inventory PPE
— = —_ 0 “lVenmtory
ATO  Sales Sales Sales Sales
N Accounts payable Pension obligations
o ——————~ ~v1bI0n obligations
Sales Sales
Sales

Accounts receivable turnover = -
Accounts receivable (net)

‘ 1
PPE turnover = Hales 3
Property, plant, and €quipment (net)
365
Accounts receivable turnover
(sometimes called days sales outstanding)

Days in accounts receivable =

The inventory turnover ratio is sometimes measured as:

Cost of goods sold
Inventory turnover = —2°t 1 £00ds sold
Inventory
365

Days in inventory = — 99>
Inventory turnover

365 x
Days in accounts payable = M
Purchases

Page 372

Page 373
Page 373
Page 373
Page 376

Page 376

Page 377

Page 377

Page 377

Page 377

Page 377

Page 377

Page 378
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CHAPTER 13

The net borrowing cost is a weighted average of the costs for the different sources of pet
financing:

NBC = [ FO « After-tax interest on financial obligations (FO))

NFO FO

FA « After-tax interest on financial assets (FA)
NFO FA

FA y Unrealized gains on FA
NFO FA

Preferred stock  Preferred dividends
+ X + e Page 380

NFO Preferred stock

OI = Core OI from sales + Core other OI + UI Page 396

Return on net operating assets = Core RNOA
+ Unusual items to net operating assets Page 404 Cl

Core OI L Ul
NOA NOA
Core OI from sales =~ Core other OI UI ‘
+ + Page 404 |
NOA NOA NOA ‘

RNOA =

Page 404

RNOA =

Core other OI L Ul
NOA NOA

RNOA = (Core sales PM x ATO) 4

- f.
where Core sales PM = SO O; 110111 lles Page 406
ales

Net borrowing cost = Core net borrowing cost + Unusual borrowing costs

Core net financial expenses + Unusual financial expenses

NBC = Page 400
NFO NFO
Change in core sales  Change due to Change dueto  Change due to
Change in _  profit margin at " change in asset + change in other " change in
RNOA previous asset turnover core income unusual items

turnover level

ARNOA, = (ACore sales PM; x ATOp) + (AATO; x Core sales PM, )

& A Core other OI e Ul
NOA NOA Page 408




CHAPTER 14
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Sales PM = Sales — Variable cost — Fixed costs

Sales
_ Contribution margin _ Fixed costs Page 409
Sales Sales
Contribution margin ratio = 1 — Variable costs _ Contribution margin Page 409
Sales Sales
OLEV = Contl"lbliltlor'l margin _ Contribution margm ratio
Operating income Profit margin
(Don’t confuse OLEV with OLLEV!) Page 409
% Change in core OI = OLEV x % Change in core sales Page 409
NOA = Sales x L Page 410
ATO
ACSE = A| Sales x L) ANFO Page 411
ATO

Residual operating income = Operating income — (Required return for operations
X Beginning net operating assets)

ReOl, = O, — (pr— 1)NOA, Page 439

Value of operations = Net operating assets
+ Present value of expected residual operating income

RCOIl 4 RCOIZ 4 RCOI3 P RGOIT T CVT

VNOA — NOA, +
¢ Pr p% pa ph pL

Page 439

Value of common equity = Book value of common equity
+ Present value of expected residual operating income
ng _ CSEO 1 RGOIl + RG?IZ + R€3013 N RC?IT + CZT Page 440
Pr PF Pz Pr Pr
Residual operating income = (RNOA — Required return for operations)
X Net operating assets _
ReOl; = [RNOA, - (pr— 1)]NOA,; Page 442

Abnormal operating income growth, (AOIG)
‘= Cum-dividend operating income, — Normal operating income;,
= [Operating income, + (pr— 1)FCF,_;] — pr operating income,_;

=[OL+ (pr — 1)FCF,y] - prOI,

=[G = pr] X 014 Page 443
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Value of common equity = Capitalized (Forward operating income + Present
value of abnormal operating income growth)
— Net financial obligations

vE=— {oh 4 201G, | AOG, | ADIO | ] ~ NFOy Page 445
pr— Pr PF PF
Core ReOl, = Core OI; — (pr —1) NOA,—; Page 445

Cost of capital for operations = Weighted-average cost of equity and cost of net debt

B ( Value of equity

x Equity cost of capital
Value of operations iy ¥ ]

o|  Voluoofdebt . o otof debboapital
Value of operations
VE Vg

pPr = oA ‘PE + yNoA “Pp Page 447
After-tax cost of net debt (pp) = Nominal cost of net debt x (1 —Tax rate) Page 447

Required return on equity = Required return for operations

+ (Market leverage X Required return spread)
VP

PE =pr + ﬁ(pF - pPp) Page 449

Earnings growth rate, = OI growth rate,
+ [Earnings leverage,—; X (OI growth rate, — NFE growth rate;)]

gBam = GOl 1 ELEV,_l[gPI — g}‘JFE] Page 458

ELEV = ... Page 458

Earnings

; Value of net operating assets
Unlevered P/B ratio = P £

Net operating assets
yNoA
~ NOA

Levered P/B ratio = Unlevered P/B ratio + [Financial leverage
X (Unlevered P/B ratio — 1)]

VE NOA 7 NOA
) R +FLEV % =1 Page 464
’ CSE, NOA, NOA,

Page 463

Value of operations ~ JNOA

Forward enterprise P/E ratio = Page 465

Forward operating income -0l

——
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Trailing enterprise P/E ratio = Value of operations + Free cash flow

Current operating income
_ VNOA 4 ECF,
Ol

J/NOA

N o
Forward levered P/E ratio = —0— =20 | iRy, 20 _

Earn; Ol

Forward levered E/P ratio =

Barny  OI, NFO,[ O,

vE VONOA+ vE [VONOA—NBCI}
VOE + dp

Earn

_ VN9 4 ECF,

Trailing levered P/E ratio =

VNOA 1 FCF,

O], NBClj

+ ELEVO(

OI, Oly

CHAPTER 15

The no-growth forecast of operating income:
O =0lp + (p,.— 1)ANOA,
The no-growth valuation of operations:

(0)1
NoA — 1
Vo = P 1

The growth forecast of operating income:

OI;=NOA; x Core RNOA,

Growth valuation:
Value of common equity:

VE = CSEy + [Core RNOAy - (pr — 1)]NOA,
PFr—-g

Value of operations:
PNOA _ NOA, + [Core RNOA - (pr - 1)]NOA,
PFr—g
Core RNOA, - (g - 1)
Pr -8

- NOAO X

Unlevered price-to-book ratio:
VNOA  Core RNOAg - (g-1)

NOA, o

" NBG,

Page 466
Page 466

Page 466

Page 466

)

Page 484

Page 484

Page 484

Page 485

Page 486

Page 486




722 Appendix A Summary of Formulas

CHAPTER 16

CHAPTER 18

Unlevered forward P/E ratio:

yohoa 1 [1 +G2_pFJ
o1, Pr1 Pr—g

Weighted-average growth rate for ReOI = (0.7 X Current growth in ReOI)
. + (0.3 x 4%)
A simple valuation with short-term and long-term growth rates:

yoa = of x 1| G2 = Glong
PF -1 PF '—Glong

ReOI = Sales x [Core sales PM — Requued retiz.lT]éor op eranons]

+ Core other OI + Unusual items

Quality diagnostics:
Net sales/Cash from sales
Net sales/Net accounts receivable
Net sales/Allowance for sales returns and discounts
Net sales/Unearned revenue

Bad debt expense/Actual credit losses
Bad debt reserves/Accounts receivable (gross)
Bad debt expense/Sales

Normalized OI
@)1

where

Normalized OI = Free cash flow + ANormalized NOA
= Free cash flow + ASales/Normal ATO

Adjusted ebitda
ebit

Depreciation

Capital expenditures

Cash flow from operations (CFO)

Operating income

CFO
Average NOA

Pension expense

Total operating expense

Page 486

Page 488

Page 488

Page 506

Page 603

Page 604

Page 605

Page 607

Page 607

Page 608

Page 608

Page 610
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Other postemployment expenses Page 610

Total operating expense

Operating tax expense Page 610

OI before taxes

Warranty expense/Actual warranty claims

Warranty expense/Sales Page 611
R&D expense : Page 615
Sales
Advertising expense Page 615
Sales
CHAPTER 19
Reverse engineering the expected return:
B B
Expected equity retum = | —2 x ROCE, |+||1- =0 Ix(g-1) Page 665
5 5
d for onerati _ | NOA, i NOA, .
Expected return for operations = }m XRNOA, |+||1- NOA X(g—-1)
0 0
Page 665
CHAPTER 20

; Current assets
Current ratio = ————— Page 685
Current liabilities

. ; ; Cash + Short-term investments + Receivables
Quick (or acid test) ratio = — « Page 685
Current liabilities

. Cash + Short-term investments
Cash ratio = i Page 685
Current liabilities .

Cash + Short-term investments + Receivables

Defensive interval = X365
Capital expenditures Page 685
Cash flow to _ (Unlevered) cash flow from operations P oS
_capital expenditures Capital expenditures age
Debt to total assets = Total debt (.cul.re.n-lt + long-term? Page 686
Total assets (liabilities + total equity)
Debt to equity = Tl deb Page 686

Total equity
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Long-term debt

Long-term debt ratio = -
Long-term debt + Total equity

Operating income

Interest coverage = (times interest earned)

Net interest expense

Unlevered cash flow from operations

Interest coverage = (cash basis)

Net cash interest

Unlevered cash flow from operations
Total debt

Cash available for debt service = Free cash flow — Net dividends
: = 0Ol — ANOA — Net dividends

CFO to debt =

Debt service requirement = Required interest and preferred dividend payments
+ Required net principal payments
+ Lease payments

Page 636

Page 686

Page 686

Page 686

Page 693

Page 693
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